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4 BUSINESS ORGANISATION AND
ENTREPRENEURSHIP DEVELOPMENT

Paper : 13
Full Marks — 80
Pass Marks — 24
Time — Three hours
The figures in the margin indicate full marks

for the questions.

Answer either in English or in Assamese.
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1. Answer as directed : Ix10=10

(a) “Every organisation must prepare to abandon
everything it does.”’” The above statement
belongs to :

‘AT Aotz wRAA  FRCRE Mo
IR sy, 2 o ” T R Fowre
WW@T@:;

' : : : [Turn over

_“




R

‘
(i) Tom Peters
G foiag

(i) Herbert Simon

G AlBI

(iiy P. F. Drucker
ol @z gieR

(iV) @ K. Prahalad .
ﬁ?;_- . ez

Choose the correct option.

- Al TR @%I\‘BQTI
(b) What is cash Merge, 9
o G B e o

(c) What is the full fo of LPPB 9
[PPBT 1T ¥ Ry .

(@ Give a0 example of circy {32 combination
Ja AL 5t uremer fomyyy
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(¢) Which one of the following organisations

can create the confusion of dual command ?

Wﬁm@mﬁﬂaﬂmmwm
5% IR AN ?

(i) MMatrix organisation
cafts Ao

(ii) Project organisation.
ol TR '

-(iii) Network .organisation
GBeTRE TR

(iv) Line organisation

ol

'{WO&/“ me foundat10n stone of

startups. (Fill in the blank)
TR Bierter S | (M
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(g) NEIDS 2017 launched wi
d with i
2 | a financial outlay

NEIDS 2017 R€w semie W:
e eyl | ‘ l

(i) Rs. 2000 crore  (ii) 3
g ’ 00-0 O(:;grore

o]
Rl

(iii) Rs. 4000 crore (iV) Rs 5
g o QO; 000 crore
° % Bl

Choose the correct option
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(h) What do you mean by crowd fu
-Tundi
asfEre R e & .
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) In which year Doner Minist
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2. Answer the following : 2x5=10

oo Al Tew T ¢

(i) Two points of distinction
and acquisition.

T i w1 A

between Mmerger

(i) Two limitations of rationalisation.
Hhifoseg uol ANl |

(iii) Two arguments in favour of

AT Foita ol g |

(iv) Two features of a rational entre
IET Sogiia 9ot Y|
tures in N.E.R. ‘

Set-officeeT a1y 2y 5t 51 SO
ARG <54 | \

joint sector.
preneur.

ven-

3. Explain briefly ény Jour of the fﬂllown;%(4-== 5

(a) Production planning process

T iR A
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(b) Forms of franchising
wg-sffesse [fea e

'(c) Features of learning organisation

Mﬂy{o\mhﬁ@.

(d) Hagen's theory of entrepfeneurship
Hagcna @Wﬁl@ W

© Women entrepreneurship in Assam

s wEe Suife!
(o Gov ernment as promoter.
<5 e P |

A MNCs are ibuti
Explain oW : contribut :
P t of Indian economy, W}lgxgelftl thi‘
ry o

deVCIOPI 'dered = e‘;. ab 0y}
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the major policy initiativeg undertak,
' en
Govemment of India to gt
; _ rengt
by th :n the country ? g tae
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3 What is productivity ? How to raise productivity
in industrial or service sector of our economy ?

: 3+7=10
GesivTieTel T @i 2 SR SEes FELe
Az GRed Geslvierel (R @ I
At 2

1 4

Or/7izat -

Piscuss in detail Alfred Webers theory of
industrial location. How far the theory i8 relevent
in.today's context ? 7+3=10

Alfred Webers @ Fiiaaed og T AT
1 | aﬁwa@m'@a@@ﬁﬂﬂ@w !

6. Distinguish between entrepreneur and intrapreneur.
Eow would you justify the need and thqe
increasing importance of intrapreneurs in today’s
environment ? ' 6+4=10

SN S Sre-Ceng e D e

OI‘/ :ﬁi?[ il
What are the qualities of an entreprencul ? Why
ine forward

more and more young Indjans are COMNE
to pursue entrepreneurship ? 6+4=10

GG BN wqet B & 2 GEOON o4fS
ST SRS g1 i R ?
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How to measure the success of entrepreneurship
development programme ? Explain the role of
LLE or NEDFi in organising such programmeés
in the state. | 5+5=10

Sopifiter R SbIS TTO! @t Fpoiet wfie
SfifF 2 SR O CO 6 Fistrzrer 2 115
wfzar NEDFi¥ ¥ S T =t

Or /313t

Explain how 3016n§e, Technology a4 Innovation
Policy 2013 ?.nd Elltrepreneurship Policy 2015
contributing in ﬂ_‘e development of entrepre-
neurial movement in the country, 5+5=10
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